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UDP 471 M

int socket(int family,int type,int proto);
int sock;

sock = socket(PF_INET, SOCK_DGRAM,0);
if (sock<0) { /* ERROR */ }
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UDP 7|to] H|O|E| S4 B (1)

ssize_t sendto (int sock, const void *msg, int len, unsigned flags
const struct sockaddr *addr, int addrlen)
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ssize_t recvfrom (int sock, const void *buf, int len, unsigned flags
struct sockaddr *addr, int *addrlen)
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UDP Echo AMH Of|X|(simple)

#define BUFSIZE 65507

int main(int argc, char **argv)
{

int serv_sock;

char message[BUFSIZE];

int str len;

struct sockaddr in serv_addr;
struct sockaddr in clnt addr;
int clnt addr size;

serv_sock=socket (PF_INET, SOCK DGRAM, 0);

memset (&serv_addr, 0, sizeof (serv_addr));
serv_addr.sin_family = AF INET;

serv_addr.sin _addr.s_addr = htonl (INADDR ANY) ;
serv_addr.sin port = htons(atoi(argv([1l]));

if (bind(serv_sock, (struct sockaddr*) &serv _addr, sizeof (serv_addr))==-1)
error handling("bind() error");

while (1) {
clnt addr size = sizeof (clnt addr);

str len = recvfrom(serv_sock, message, BUFSIZE, 0, (struct sockaddr*)&clnt addr, &clnt addr size);

sendto (serv_sock, message, str len, 0, (struct sockaddr*)&clnt addr, sizeof(clnt addr));

close (serv_sock);
return 0;
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UDP Echo Z2|0|AHE 0fX|(simple

#define BUFSIZE 65507

int main(int argc, char **argv)

{

int sock;
char message[BUFSIZE];
int str len, addr size;

struct sockaddr in serv_addr;
struct sockaddr in from addr;

sock=socket (PF_INET, SOCK DGRAM, O0);

memset (&serv_addr, 0, sizeof (serv_addr));
serv_addr.sin family = AF INET;
serv_addr.sin addr.s addr = inet addr(argv([1l]);
serv_addr.sin port = htons(atoi(argv([2]));

while (1)
{

fgets (message, sizeof (message), stdin);

if (!strcmp (message, "g\n")) break;

sendto (sock, message, strlen(message), 0O, (struct sockaddr*)é&serv addr, sizeof (serv_addr));
addr size = sizeof (from addr);

str len = recvfrom(sock, message, BUFSIZE, 0, (struct sockaddr*)&from addr, &addr size);
message[str_len] = 0; // ‘\0’

printf (“from server: %s", message);
}
close (sock) ;
return O;
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